EXAMPLE 1,

Bending Moment = Major ; Tensile force = Minor

23 - IPE 500
Sigma Total
Wember Mo. 1, = 0.000m

Stress produced by
Bending moment

Min : -SASTEDT MimZ (5)
Max :  SASTE+O7 MimE (B)

EXAMPLE 2,

23 - IPE 500
Sigma Total
Wember Mo. 1, = 0.000m

BE20690.0

Stress produced by
Tensile force

Min :  SEME+08 Mim? (13)
Max :  BE21E+06 MimE (1)

Bending Moment = Minor ; Tensile force = Major

23 - IPE S00
Sigma Total
flember Mo, 1, x: 0,000 m
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Resultant

Mn o -4.325E07 M (5)

Max ©  GO49E+07 Mim? ()

23 - IPE 500
Sigma Total
Wember Mo. 1, = 0.000m

Stress produced by
Bending moment

Min : -SASTEDT MimZ (5)
Max :  SASTE+O7 MimE (B)

23 - IPE 500
Sigma Total
hember Mo. 1, = 0.000 m

SEZOG2OG6.0

Stress produced by
Tensile force

Min - BE2IE+07 MimZ (13
Max @ SE21E+07 MinZ (1)

23 - IPE 500
Sigma Total
Wember Mo. 1, = 0.000m
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Resultant

Min :  3434E+07 Mim2 (5)
Max :  1.381E+08 Mim% (B)




